
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 4, Members Subject to Bending and Extension problem 4.072, page 257 
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150 mme =

1
2 150 mmc h e= − =

3 450 mmc =

72 kN

Remarks:  See §4.10.2, pages 215 till 219 
 
Answer:  
 
a.  2

max 0,50 N/mmσ = −

b.  2
max 0,53 N/mmσ = −

 
Explanation: 
 

3 2360 10  mmA = ×  and  6 336 10  mmW = ×

a.  72 kNN =

  (     ) (36 kN) (0,3 m) 10,8 kNmM = × =

 Maximum compressive stress in the right edge: 

 
3 6

2
max 3 2 6 3

72 10  N 10,8 10  Nmm 0,50 N/mm
360 10  mm 36 10  mm

σ × ×
= − − = −

× ×
 

b. 150 mmzMe
N

= =  

  The resultant compressive force from the stress distribution under 
the block is at this spot. The shape of the stress distribution is 
triangular with maxσ  at the right side. The length over which the 
stress distribution acts: m . 3 450 mc =

 3 21
max max2 (450 mm)(600 mm) 72 10  N  0,53 N/mmσ σ= − × ⇒ = −  

 
 
 
 
 


